2019£F “RIEWA" BIFZ (4)

ROUND: 2 TABLE: 2 DATE: 2-17-2019
AREGPA VS 21£F0PA
7 = A =
2N == 1N FEFOBA TREZPA
it . TRIE R =R it . FEH% R X
mE AR 7 : BRIS B EHE 7 : R
AR | R | ER| | g | me | Bx | 20 | g8 mes| DN | =X
11 | WL | s |3D| = | 120| W | 2H | -2 | 100
12 | Bdt | E [ANT| +2 | -a50 | E | 2S | +1 | -140
13 | W | E |4NT| +1 | -660 | E |6NT| -2 | 200 13
14 | WE | w|4s| 12| 50 | S | 4D | +1 | 150 3
15 | mdt | E |3NT| = | -400| W [3NT| -2 | 100 11
16 | ZRA ALL ALL
17 | WE | s |45 | = | 420 | N |3NT| +2 | 460 1
18 | Egdt | W [4SX| +1 | -690 | W | 4S5 | +1 | -450
19 | = | E | 4H | +1 | -650 | S |4SX| -3 | -500 4
20 | WB | E |3NT| = | -600| E |3NT| = | -600
DATUMZ1T Y. X+ 0.00 |38.00
REBA FEFIBA iEEE
TREIEMEHER 0.0 | EEWIEMS 0.0 ait 0.00 |38.00
XURZ/ZBX#, 0.0 ZFIR/BRS 0.0 V.P. 1.03 |18.97




